District School Board of Pasco County Bid Recommendation

Bid Title	Health Supplies - Warehouse Stock	Number of Vendors Notified	90
Bid Number	10-012-GF	Number of Bids Distributed	15
Date Solicited	January 9, 2009	Number of Vendors Bidding	7
Date Opened	February 3, 2009	Number of Vendors Not Bidding	8
Date Board Presentation	March 3, 2009	Funding Source	Asset
Total Savings	\$5,411.82	Grand Total of Bid	\$44,756.50

<u>Recommendation</u>: Recommend acceptance of bids as noted on attached bid tabulation sheet as lowest and best responsive, responsible bids meeting written specifications.

<u>Term of Contract</u>: This bid is for the annual purchase of health supplies for warehouse stock for delivery and distribution throughout the District.

<u>Notations and Exceptions</u> Item #HS-01, 08, 016: Recommend rejection of lower bid from Abel Unlimited Inc. due to ripping of gloves during testing. Recommend acceptance of next low bid from Moore Medical.

Recommend rejection of all lower bids for failure to provide samples, specifications and 510K letter indicating approval by the FDA as required in the bid documents.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By: Lisa Kern, Acting Nursing Supervisor

Bids Prepared By: Gail Fowler, CPPB, Buyer

Reviewed and Authorized By: Kendra D. Goodman, CPPB, Purchasing Agent

DATE/TIME: February 25, 2009; 09:17:00

DATE OF	OPENING: FEBRUARY 3, 2009 2:30 PM	Abel Unlimited		All Florida Pap		Binson's Hospit	
	E: HEALTH SUPPLIES - WAREHOUSE DEPT.	2020 Seabird W		9150 NW 105tl		2069 Aloma Avenue	
BID #: 10	0-012-GF	Riviere Beach, I	FL 33404	Medley, FL 331	178	Winter Park, FI	32792
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	VINYL GLOVES (LARGE) (3,000 BOXES)	2.74	8,220.00		7,860.00		15,420.00
	Manufacturer:	Ironwear		Safety Zone		Lowrie & Co	
	Product:	4670		GVEP-1		"Foreign China	
	Qty Per Box:	100		100		100	
HS-05	TAMPONS (285 CASES)	NB	NB	NB	NB	NB	NB
	(Alternate)						
	Manufacturer:						
	Product:						
	Qty Per Box:						
110.06	NA DVING GANGTADIV (50 GAGEG)	ND	ND	ND	ND	ND	ND
HS-06	NAPKINS, SANITARY (50 CASES)	NB	NB	NB	NB	NB	NB
	(Alternate)						
	Manufacturer:						
	Product:						
	Qty Per Box:						
HS-08	VINYL GLOVES POWDER FREE (MED.) (500 BOXES)	2.74	1,370.00	2.62	1,310.00	5.57	2,785.00
	Manufacturer:	Ironwear		Safety Zone		Lowrie & Co	
	Product:	4671		GVEP-1		"Foreign China	"FG410
	Qty Per Box:	100		100		100	

	F OPENING: FEBRUARY 3, 2009 2:30 PM	Abel Unlimited	. Inc.	All Florida Pap	er	Binson's Hospita	al Supplies
BID TITL	E: HEALTH SUPPLIES - WAREHOUSE DEPT.	2020 Seabird W		9150 NW 105tl		2069 Aloma Avenue	
BID #: 10	0-012-GF	Riviere Beach,	Riviere Beach, FL 33404 Medley, FL 33178 V		Winter Park, FL 32792		
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-16	VINYL GLOVES POWDER FREE (LARGE) (500 BOXES)	2.74	1,370.00		1,310.00		2,785.00
	Manufacturer:	Ironwear		Safety Zone		Lowrie & Co	
	Product:	4671		GVEP-1		"Foreign China"	FG410
	Qty Per Box:	100		100		100	
HS-19	CUPS, MEDICINE (50 CASES)	NB	NB	NB	NB	NB	NB
	Manufacturer:						
	Product:						
	Qty Per Box:						
	Qty Per Sleeve:						
HS-21	VINYL GLOVES (MEDIUM) (4,000 BOXES)	NB	NB	2.62	10,480.00	5.14	20,560.00
	Manufacturer:			Safety Zone		Lowrie & Co	
	Product:			GVEP-1		"Foreign China"	FG200
	Qty Per Box:			100		100	

	OPENING: FEBRUARY 3, 2009 2:30 PM	Dash Medical		Henry Schein, I			nterboro Packaging Corp.	
	E: HEALTH SUPPLIES - WAREHOUSE DEPT.	10180 S. 54th		135 Duryea Ro	ad E-255	114 Bracken R		
BID #: 10)-012-GF	Franklin, WI	53132	Melville,NY 1	1747	Montgomery, N	IY 12549	
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
HS-01	VINYL GLOVES (LARGE) (3,000 BOXES)	3.24			10,770.00		,	
	Manufacturer:	DASH		Criterion H.S.I.		Pro State		
	Product:	SLP100L		1025332		Omni Trust-Lrg		
	Qty Per Box:	100		100		100.00		
HS-05	TAMPONS (285 CASES)	NB	NB	NB	NB	NB	NB	
	(Alternate)							
	Manufacturer:							
	Product:							
	Qty Per Box:							
HS-06	NAPKINS, SANITARY (50 CASES)	NB	NB			NB	NB	
	(Alternate)			51.29				
	Manufacturer:			Gards #4				
	Product:			147A/7036054				
	Qty Per Box:			250				
HS-08	VINYL GLOVES POWDER FREE (MED.) (500 BOXES)	3.30						
	Manufacturer:	DASH		Criterion HSI		Med Pride		
	Product:	SPF100M		1025338		Med Pride-Med	1-VPFG	
	Qty Per Box:	100		100		100		

	F OPENING: FEBRUARY 3, 2009 2:30 PM	Dash Medical	Gloves	Henry Schein, I		Interboro Packaging Corp.	
BID TITI	E: HEALTH SUPPLIES - WAREHOUSE DEPT.	10180 S. 54th	St.		Ouryea Road E-255		oad
BID #: 10	0-012-GF	Franklin, WI	53132	Melville,NY 11	1747	Montgomery, NY 12549	
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-16	VINYL GLOVES POWDER FREE (LARGE) (500 BOXES)	3.30	1,650.00	4.09			1,675.00
	Manufacturer:	DASH		Criterion HSI		Med Pride	
	Product:	SPF100L		1027319		Med Pride-Lrg-	VPFG
	Qty Per Box:	100		100		100	
HS-19	CUPS, MEDICINE (50 CASES)	NB	NB	52.50	2,625.00	NB	NB
	Manufacturer:			Dynarex			
	Product:			4252/1000580			
	Qty Per Box:						
	Qty Per Sleeve:			50			
HS-21	VINYL GLOVES (MEDIUM) (4,000 BOXES)	3.24	12,960.00	3.59	14,360.00	2.85	11,400.00
	Manufacturer:	DASH		Criterion HSI		Pro Stat	
	Product:	SLP100M		1025329		Emerald-Med-V	/G
	Qty Per Box:	100		100		100	

HS-01		F OPENING: FEBRUARY 3, 2009 2:30 PM	Moore Medical L		Pyramid School	
TIEM # DESCRIPTION	BID TITI	LE: HEALTH SUPPLIES - WAREHOUSE DEPT.	1690 New Britian	n Ave	6510 North 54th	Street
HS-01	BID #: 1	10-012-GF	Farmington, CT	06032-3112	Tampa, FL 3361	0
HS-01						
Manufacturer: Cypress Amitex VLG100 10	ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
Manufacturer: Cypress Amitex VLG100 10						
Product: 77110 100	HS-01		2.97	8,910.00	2.79	8,370.00
Qty Per Box: 100						
Minimum order for all Ambites 600 boxes combined						
HS-05 TAMPONS (285 CASES) 62.30 17,755.50 50.49 14,389.		Qty Per Box:	100		100	
HS-05 TAMPONS (285 CASES) 62.30 17,755.50 50.49 14,389.					(Minimum order	for all Ambitex
(Alternate) Unisource Tampax Product: 65596 T500 Qty Per Box: 500 (Minimum order is 1,000 cases (Minimum order is 1,000 cases combined items HS-05 & HS-06 HS-06 NAPKINS, SANITARY (50 CASES) 29.92 1,496.00 21.99 1,099. Manufacturer: Unisource Gards Product: Maxithin 65595 147A					600 boxes combi	ined)
(Alternate) Unisource Tampax Product: 65596 T500 Qty Per Box: 500 500 (Minimum order is 1,000 cases combined items HS-05 & HS-06 combined items HS-05 & HS-06 HS-06 NAPKINS, SANITARY (50 CASES) 29.92 1,496.00 21.99 1,099. Manufacturer: Unisource Gards Product: Maxithin 65595 147A						
Manufacturer:	HS-05	TAMPONS (285 CASES)	62.30	17,755.50	50.49	14,389.65
Product: 65596 T500 Qty Per Box: 500 (Minimum order is 1,000 cases combined items HS-05 & HS-06 HS-06 NAPKINS, SANITARY (50 CASES) (Alternate) 29.92 1,496.00 21.99 1,099. Manufacturer: Unisource Gards Product: Maxithin 65595 147A						
Qty Per Box: 500 500		Manufacturer:	Unisource		Tampax	
(Minimum order is 1,000 cases combined items HS-05 & HS-06		Product:	65596		T500	
Combined items HS-05 & HS-06		Qty Per Box:	500		500	
Combined items HS-05 & HS-06					(Minimum order	is 1,000 cases
(Alternate) 29.92 1,496.00 21.99 1,099. Manufacturer: Unisource Gards Product: Maxithin 65595 147A						
(Alternate) 29.92 1,496.00 21.99 1,099. Manufacturer: Unisource Gards Product: Maxithin 65595 147A						
Manufacturer:UnisourceGardsProduct:Maxithin 65595147A	HS-06	NAPKINS, SANITARY (50 CASES)				
Product: Maxithin 65595 147A				1,496.00		1,099.50
		Manufacturer:				
O. D. D.		Product:	Maxithin 65595			
Qty Per Box: 250 250		Qty Per Box:	250		250	
(Minimum order is 1,000 cases					(Minimum order	is 1,000 cases
combined items HS-05 & HS-06					combined items	HS-05 & HS-06)
HS-08 VINYL GLOVES POWDER FREE (MED.) (500 BOXES) 3.04 1,520.00 2.83 1,415.	HS-08	VINYL GLOVES POWDER FREE (MED.) (500 BOXES)	3.04	1,520.00	2.83	1,415.00
Manufacturer: Cypress Ambitex		Manufacturer:			Ambitex	
Product: 77105 VMD200		Product:	77105			
Qty Per Box: 100		Qty Per Box:	100		100	
(Minimum order for all Ambites					(Minimum order	for all Ambitex
600 boxes combined)					600 boxes comb	ined)

	F OPENING: FEBRUARY 3, 2009 2:30 PM	Moore Medical I		Pyramid School	
	LE: HEALTH SUPPLIES - WAREHOUSE DEPT.	1690 New Britian		6510 North 54th	
BID #: 1	0-012-GF	Farmington, CT	06032-3112	Tampa, FL 33610)
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-16	VINYL GLOVES POWDER FREE (LARGE) (500 BOXES)	3.04	1,520.00		1,415.00
	Manufacturer:	Cypress		Ambitex	
	Product:	77106		VLG200	
	Qty Per Box:	100		100	
				(Minimum order	is 1,000 cases
				combined items	HS-05 & HS-06)
HS-19	CUPS, MEDICINE (50 CASES)	33.50	1,675.00	NB	NB
	Manufacturer:	Cypress	,		
	Product:	81772			
	Qty Per Box:	5,000			
	Qty Per Sleeve:	50			
HS-21	VINYL GLOVES (MEDIUM) (4,000 BOXES)	2.97	11,880.00	2.79	11,160.00
113-21	Manufacturer:	Cypress	11,000.00	Ambitex	11,100.00
	Product:	77109		VMD100	
	Qty Per Box:	100		100	
	Qiy 1 of Box.	100		(Minimum order	is 1,000 cases
				combined items	HS-05 & HS-06)